Math 160B - Winter 2022 - Class Work - In Lecture, January
27 (No upload today.)
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1. Prove that Accept, defined by
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is undecidable.

2. Give a many-one reduction from Haltg to Halt;.

W= (v, er . we Holty F W)€t
go‘)’L Ynloun N/r}y:\) I)\alﬁ

Ulltﬂf'c w = Tm?l

(/\)ﬁol‘/— a OC(/!I/‘ C*LW # {W&Ly —Ue '/“’é(\—v'La: \
£ ™ s W
b T bl TV aceph
S Fis  a mery -me wrducku. Fiur HH b 4cm,y%,

(’N\ ) 7L0(/1~56( 7£fay~ r/l/["' L)’ ;/Ep(c_eu«-j Cdpy 'y 1‘(/&_((\

[ N\ ’I’LJ—* fé]ec-i:f/ L~7 <~/ 5111/%7”(0;_ 7‘(4@7‘
a(cq’é’ auw 1/\4,')1

l/(\,\tl/{‘f(lo\l A/GW"M\W— : A;M&:» X decides '4@‘;0/',
Topst T
.,
_7,/1[ etbor of Here M
Achp/, o &((«7&1'2 e }((TW\\ w7 a—<d

X( (’M/’llw)
L‘_}\'\Qa/f W’ Is Saue Gl M

but U Neeept" L fged
s‘ul)o,o)oea(


sbuss
Pencil

sbuss
Pencil

sbuss
Pencil

sbuss
Pencil




